FAB2APRANYF 1I3FERF-FH 4 E2x KFF HIEL

Whid-4 PRI S Rm20 9&  m R TR

( B )1 T rwR- BER LI AEsTE ?
(A) Z& = BEE= £35- T4 B) & A B 12:H25- 2 4p w2

C) =LA BEFA- AP0 (D) =& A &> A5- Tp i
(A )2 +REAFFRERFAP - F AB=16> B BP = ? P

(A) 4 (B) 3 (€)2 (D) 1 A\\%\y*géiz{fB

z
( C )3. X x~y~z¥*2 502 «i‘%Z%:E v B x+y+z=36> FR(x+y—5): (4x—3y+z) cnt

Ea 9
A) 1 B)— 0 — (D) —
(&) (B © = O
( B )4. 4o+ B > £AABC*® > ¢ v AB=65> BC =85> AC=9> % D~E~F = 24 4% AB
A

~N

‘BC ~ AC ¢ 8. RADEF ih% £ = 9
(A) 24 (B) 12 (C) 14 (D) 6

oy
@)

( C )5. 244D /| EF |/ BC » AH /| DC » ® AH % EF* G2 o
2 AE =10 EB =15 AG =6 £ DC éhE B =2 4 l<
(A) 12 (B) 18 (C) 15 (D) 25 G <

o

( D)6.-BAABC*® D~E&8A Ut AB ~ AC } » BT 5|8 B it g 255 %_DE// B

(A) AD : DB = AE : EC (B) AD : AB = AE : AC 4
(C) 4B : DB = AC : EC (D) AD : AB = DE : BC

— — — pt— C
( D )7. ¢ %389, ABCDE~7F i$4, FGHIJ- % AB=2> BC=5> CD =3 FG =8 >

I_JZIO’F_J=24’.#LAE+DE+H1_5%§:? H
A
I
(A) 16 (B) 18 (C) 16.5 (D) 20.5 B@g .

( A)S. 4oL B * > BF# CE 2>t A8 > 2,2 AABC 2 AAEF - ¢ v /B= /E »

% AC =40 AF =60 > EF =45 % BC :h& B =? BDQE
64 40 C 4

(A) 30 (B) 35 © — (D) —- F




C )9. 4o+ B > %43, ABCD* » AD//BC » AD =10 BD =15 BC =22.5

10
BIAABD £ /\DCB 124 i fa{2 57 4p 12 9 AV N
(A) A4 (B) SSS (C) SAS (D) AS4 S -
22.5

A )10, 4ot W] 0 AABC = s E A6l 5 8 2 <12 24 <9 24 » % BC # 1

Sx A ACHIHE sy A ABWY hF Lz A fx iy =9 A
l j;'l B 1 1 j; C)12:8:9 (D)&8:12:9 y

Wi B) 2igi (O12:8:9 (D)2

A )11 ;ﬁ-;%% sin30° +cos60° = ? A 12

(A)1 <B>ﬁ <c>3+2ﬁ (D)3 -

D )I2. 4@ > £B= LACD=90"» AB=BC » £D=60° > % BC =4 > ¥ AD = ?
A
D

B a
(A)82 (B)%ﬁ <c>§¢€ (D>§J€o

B )I3. 4@l Li//La> 2 Li ¥ Ljedi 2% DE=2> BC=6" B NABC % # 5 5 > T3 H = ?

A
D/\EL
-
B c L

(A)7 (B)9 (C)14 (D)18-

B )4 £ AB R Os /s> 2 PR - T § F - 8o % LAPB=95" » B P B 4 v%m 9
(A)F+ (BYAR (CORA (D)* s e

B )15, 4R » AB B CD alfﬂhfﬁ“?l T erd 52 5 F AB—llO ’CD—17O » Bl LZABD= ?
AT N

)
N

(A)100° (B)105° (C)110° (D) 140°

A )16, KAABC ch= F @A bl - I > ¥ 2B=40" > £C=65"> | BC hA #c 5 > & ?
(A)150° (B)130° (C)75° (D)65° -

B )17. 4B > Fl O &7 i35 OABCD thw B EEL o & ABD=150" » LA=65"+ ~D=60" > A BC thR #ic s P ?

(A)25 (B)40o (C)50 (D)55 =’ -



(D )8 #— 3 (55 10 24 ] > $H485 X S HEE > BPIIBMR L BT FF SRR L 0 2
(A)202% (B)10=2&s (CH)T7524 (D)5 2k o

( D )I9. 4rH > CE L i#Flw OB-% AB a5 %3 » L85 D> % AB=CD=16>PIFl O ff 5 % > T H =9

CE
B

( C )20. 4B > NABC® » AH 1. BC ** Hg:» & &v BC=a> AC =b> AB =c > B| T 5|77 1 4 57 AH & R ?

(A)257 (B)36x (C)64mr (D)I1007 -

? ~sinBxb ¢ ~sinCxe [ ~sinCxb 7~ sinBxc

AR
B C

H
a

(A)? ~fF (B)e ~7 (C)F -7 (D)7 ~7 -«

(D )21 4+ B> w3 ABCD 5 FI}M #2w 87, > » B4 M2t P g s v

T 7 ﬁ B ADCP 4p it ? A
B

AL
(A) AABC  (B) AADP (C) ABPC (D) AABP
( A )22 ¢ 4v:4eit B> BCTALABD» AB = BD  £% : AC = DC »
A
(") ~AABC=ADBC (SAS > %1% )
(¢)BC = BC (2%f)
(75) ~ AC = DC
(7 )% AABC = ADBC ®
w AB=BD (¢4 )> £ABC=sDBC (BC X i £ABD)
PR~ 3P R R £ ?
(A) 7 >t —% -3 (B) 7>t o[ oY
(C) B s g (D) -7 -7 53
A
( C )23. c4ra~bioil il ¥ A®+7*=(20b+3 ) :
TR VHEP N E 20 ik
L FHEP NS 8 ik B
Al b at e o A 7
(A) ® (B) ¢ (O L (D) & &4
D

( B )24 FHIR =R T =0, $OE L ?
AZAF =B HEGIREENL  BRAS AR IMAE= A
(O BEA=fA B OERE D, (DYIIOE] = i = 8 S -



(D )25 ® 3 [ 5 AABC ehph & o % L ABC+ L ACB=100° » B| /BIC 5 % > B ?
(A) 100 (B) 110 (C) 120 (D) 130 B -

( C )26. 44§ » AABC ¥ » G 83 AABC th s »+ & 5ABGD i £ 5 3 -
AABCE"‘;’J&‘ %%:—:E’ ) J.;g.GD :2, E‘Jt‘ éﬁE:Z‘ ’ 1’\9 +z :?
(A) 20 (B) 22 (C) 24 (D) 30

( C )27. ¢ 50 5 AABC b s > LBAC=120° AB = AC =6 B| O4 = ? B

(A)5 (B) 8 ) 6 (D) 10

S

( A )28. AABC* » AB=AC =13> BC =10 P|HE P > FlL /e 4 7 ?
10 13 5
(A) EY (B)? ©) 4 (D) 2
( A )29. 4Bl > AABC?® D~E~F=28#%BCu %4~ > AG : AC=1:3>H % AB 2 ¥ % -
T 5| eR— T]}ggﬁ\AABCﬁ?_—gf,u?

A
A C G
(A) Z B) Y C©)X (D) W A‘%
B/C
F

( B )30. £ £ AABC ¥ » 2C=90°+ AC =12+ BC =5+ £ AABC i+t {2 j2=F -
pREE=r K Rr=7
(A)8 B) 8.5 (©) 9 D) 9.5



